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(>:()1
k̃11(x)−−−−→

(>:()2
k̃12(x)−−−−→
. . . �6:(
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(>:()G
k̃1G(x)−−−−→ /
0

�6:(
γ1−→ ∅, ?�	���


γ2−→ ∅. /�0
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 �#��� ��� 	

��	
!������	�
� �'��� ��� 	��������	�
� ��	�� ������ 
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	�� ��
	��� �
����	��	�
� x( 	�� �)��	�#� ��	� �
��	��	�
��� ��#�� �� k̃1j(x) = k1jhj(x)�  ���� k1j �� 	�� ����
��	� �
��	��	 ��� hj(x) �� 	�� 	������� ����	�
� 
� 	��
j!	� ���� �
��

hj(x) = (1− εj)Hj(x) + εj , j = 1, 2, . . . , G. �*�

εj = k1jε/k1j �� 	�� 
������ 
� 	��������	�
��� ���+����
��� 	��� εj < hj(x) < 1( k1j ��� �� ��	�����	�	�
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� 	��
	��������	�
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$� 	�� ���� 
� G ���� �
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� t 	�� ��
	��� �
����	��	�
� �� �,��� 	
 x ��	!
��"�� 	�� 8��	�� �,��	�
�

∂p(x, t)

∂t
= γ2

G∑
j=1

aj

∫ x

0

w(x − x′)hj(x
′)p(x′, t)dx′

+ γ2
∂

∂x
[xp(x, t)] . �9�

$� 	�� ��
#�� 	�� ��
	��� �
����	��	�
� x ≥ 0 �� � �
�!
	���
�� #�������� u �� 	�� ����	 ��5�� w(u) = ν(u)− δ(u)�
 ���� ν(u) = (1/b) exp(−u/b) �� 	�� ����	 ��5� ��
�����!
�	� ���	����	�
� ��
	� 	��	 	�� ����	 ��5�� ��� ����	������
���	����	�� �
� ���� ���� �
����  ������ aj ��� b ���
��"��� ��

aj ≡ k1j
γ2

, b ≡ k2
γ1

, �:�

 ������ δ(u) �� ;���� ���	� ���	����	�
� -��/�
��� �	�	�
���� �
��	�
� 
� 2,� �9��  �	� 	�� �
�
���!

��	�
� �
��	��	 A� �
��
 � ��

 2,� �<� 
� ���� -��/=

p(x) = Ax−1e−x/b
G∏

j=1

exp

[
aj

∫
hj(x)

x
dx

]
. �.�
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2,� �3� ��� ��

 2,� �.�  � 
�	���

p(x) = Ax−1e−x/b
G∏

j=1

xajHj(x)
aj (1−εi)

nj . �<�

���� ����	�
��� �
�
 
� p(x) �.� �
� �
�!�

����	�#� �'
������� �� ��#�� �� �������% ���
$	 ��
��� �� �
	�� 	��	� �� 	�� ������	 

���� 	��

����	��� 
� ���� ���� �
�� �� � >
���
� ��
����� ����!
������	 ��

 	�� ����	��� 
� ��� 
	��� �
����� ����� 	����
��
	��� ��
���	�
� ��	�� ��� �
����� 
��� �� 	�� �



�
�

� 
� ��
	���� 	��	 ������	� 	�� ����� �� 	���� �'��



�� ������	
	��

�� ���� ����	
���� �	 �
�	�� 	������ ��	 �	����� �� ��	
�	
�� ���� ���� �	 ��	� ��
��	
 �� �� ��	 ���	
�

�������� �� �	
����
 �����
 �� ���� ����
�
���� ��

�� ���� ��	 �
 ��
	 ���������� �	�	
��
� ���	
��	� �����
�� �
 ���	
�� �������
�������� ���
� 
����	� ��	 ��
� ���� �� ��	
���
 !�"� #$%� �� ��
 ���	�� ��	 �
	�	�
	 ��
���������� ���	
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���� ���� �����
�����
�� �������� ���� ��	 '���	 �� Kj �� ()� �*� �	�	��� ���
���� �� ��	 ��+��	
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�
����
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	 ���	 �� ���� ��	 ��	
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pG(x) = AxGa−1e−x/b
[
1 +

( x

K

)n]−Ga(1−ε)
n

. ��6�
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	���# ��
��	�	
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